Honors Geometry Name Answé!’ ICL\.{

Unit 6 — Circles ‘ Circles Activity

1. Find x
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G + (x +q)z = (x +Z7)z

L

196 + x* 118y +8] = X +54% 4729

W
o)}

048 = 30x

2. Agreen of a golf course is in the shape of a circle where the hole is also the center of the green. Will's golf
ball is currently 49 ft from the edge of the green and 77 ft from the point of tangency on the green.

a) Draw the figure that diagrams this problem, and label it with the corresponding values.

b) Assuming the green is flat, what is the radius of the green?

X"+ 77" < (><qu)1 X =30 Coradivs s 306 FF
X“+5929 = x*+98x + 240
____________ 2 ), S SO
¢) How far is your golf ball from the cup at the center of the green?
d, =HI+360

L. 85 Ft awm,
= 85'

d) If you were to putt directly at the hole to sink your shot, what angle should your putt make with the
tangent line to the green?
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85 X=Cos \ 75



3. Inthe figure to the right, the radius of the circle is 20 cm.
BC bisects ZABL, which measures 40°.
Round all answers to the nearest thousandth.

a) Find the measure of each side of ABEL

Be= 14,950 cm
eL=02.99 om
st=_ 17,840 om

b) Find the perimeter and area of ABEL

Perimeter = 7.?)5 ,SQE) Cw
Area = 7-55(@. E)OS QM?'

4. Asurveillance satellite is hovering over the Earth 3100 miles directly from the equator. The distance from the
satellite to the northern horizon is x* +7x—1110 miles, and the distance from the satellite to the southern
horizon is 2x* —89x +170 miles.

at diagrams this problem, and label it with the corresponding values.
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b) Fi s) of x. =
mtithe value(s) of . k\&,\(p X= 80
X +Tx- 110 = 2x =8¢ +170 Tnualtd

0= X" -%x +1280

c) How faris the satellite from each horizon?

< 86" +7(0) - 110
J._ 5950 l5‘350 m:lesﬁ

d) Use this data to find the estimated radius of the Earth.

A
5850° + r* = (r 1-3100) ra %9¢9.758 M.l
34222500 +r* = r* + G200r + 90igooo

24 6I12,500 = (GZoOr



5. Points A, B, C, D, Elieon (O Q
BF is a diameter

AF is a tangent
mAB =74°, mBC =50°, mDE =26°

mte S

ms2 = 376

m.3 = ’30

mJ/4 = 500
P W e mo- 49’

s 58 m49=15-30 m/10 = (on

6. Agardener is designing a circular garden, and in doing so, she places flower pots around a large circular
garden {represented by (DQ). Once she places point A, she walks in a clockwise rotation to place point 8, and
then point C. Unfortunately a potential issue with the design arises, and in order to fix it she must solve the

R (zx - @-»- (qms) b (B) = 360°

Qx =27 = 366

Ox < 367
X =43

mAB = (4x-23)°
mAC = (2x-8)°
mZBQC =(3x+4)°




7. Giventhat |, //l,, find the measure of each arc/angle

midtE= T8

0
msaas= 1o

1
mZBQC = z&o
& ‘,
m.ZCQD = 7@
0 ’ 0 G 0
msoae = 10Y monca=_ 90 moare=_ |4
mFB= (ﬂo m/ABQ = ‘70’ m/CBG = Ma

mBC= l@° mDC= 7(00 mED= Joq




